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英语阅读(二)试题

课程代码：00596
全部题目用英文作答(翻译题除外)，请将答案填在答题纸相应位置上

I. Reading Comprehension (50 points, 2 points for each) 

Directions: In this part of the test, there are five passages. Following each passage, there are five questions with four choices marked A, B, C and D. Choose the best answer and then write the corresponding letter on your Answer Sheet.

Passage One

     The over-60 population is growing faster than any other age group. Between 1950 and 2050 it is expected to increase from 200 million to 2 billion. As the number of older persons increases, so will the need to ensure their social inclusion, based on an income from decent work or retirement and a chance to participate in community life through employment, volunteer work or other activities. According to the International Labour Organization, “decent work” is work that meets people’s basic aspirations, not only for income, but also for security for themselves and their families, in a working environment that is safe. Decent work treats men and women equally, without discrimination or harassment. Finally, decent work provides social security and is carried out in conditions of freedom and human dignity.

     But there are over 1.2 billion people in the world who live on an income of less than $1 a day, and another billion who live on less than $2 a day. They live hand to mouth, day to day, and do not have enough income to support their daily existence — much less put something aside for retirement. In most developing countries retirement is a luxury few older people can afford. Even in developed countries some hard working people will not have enough to live on retirement. Many women — paid less than men, working more at home than men, and working more informally than men — may not be ready or able to rest at 65.

     By tradition, at least in developed countries, there is a change in roles as one moves from active middle years into “gentle” and “enjoyable” retirement. This change in roles has been viewed by the public, by government and by business, as a transition from a productive time of life to one that is unproductive and dependent. But today more than ever, this is not true. Most older people do not withdraw from society. Instead, they continue to contribute to their households, to their descendants and to their communities, although their contribution may not be paid employment.

     Instead of producing goods or services — the traditional economic model “products”－older persons may contribute a “product” that has value to society, such as caring for children, caring for other older persons, caring for the oldest old, providing community leadership, mentoring or being an effective role model. But in spite of their significant human and economic benefits, such contributions have not been figured into an economy’s gross national product. And they have not been appropriately valued.

     Over the past several decades, most industrialized countries have experienced a substantial drop in the average age at which individuals retire from the labour market. Longer life expectancy and better health have not been accompanied by longer working lives. As a consequence, these countries are facing serious concerns about the viability of social security systems. A key challenge for these countries is to mitigate the effects of a drop in the working age population by increasing and prolonging the participation of older people in the labour market.

Questions 1-5 are based on Passage One.

1. The term “social inclusion” (in Para. 1) here means ______.
   A. having decent work




B. being equal in jobs

   C. having decent income           

D. being productive in life

2. It is implied in Paragraph 2 that ______.

   A. people in rich countries can enjoy luxury retirement

   B. women if hard working can obtain decent retirement

   C. women in informal work are free to choose when to retire

   D. people in poor countries have no social security protection

3. The sentence “But today more than ever, this is not true.” (in Para. 3)  means ______.

   A. elder people used to be dependent

   B. elder people used to enjoy retirement

   C. elder people now do not want to retire from their work

   D. elder people now do not want to be cut off from society

4. To meet the challenge of financing social security, the government in developed countries needs to ______.

   A. provide more flexible choice for retirement

   B. persuade elder people to postpone retirement

   C. promote unpaid employment

   D. reform social security system

 5. The writer in the passage mainly wants to express that elder people would ______.

     A. have an enjoyable retirement     

B. prolong their productive life

     (2. have a more healthy life         

D. prolong their work life

Passage Two

      Because speech is the most convenient form of communication, in the future  we want essentially natural conversations with computers. The primary point of  contact will be a simple device that will act as our window on the world. It will have to be small enough to slip into your pocket, so there will be a screen but no keyboard: you will simply talk to it. The device will be permanently connected to the Internet and will beep relevant information up to you as it comes in. Such devices will evolve naturally in the next five to ten years.

      Just how quickly people will adapt to a voice-based Internet world is  uncertain. Many believe that, initially at least, we will need similar conventions for the voice to those we use at present on screen: click, back, forward, and so on. But soon you will undoubtedly be able to interact by voice with all those IT-based services you currently connect with over the Internet by means of a keyboard. This will help the Internet serve the entire population, not just techno-freaks.

      Changes like this will encompass the whole world. Because English is the language of science, it will probably remain the language to which the technology is most advanced, but most speech-recognition techniques are transferable to other languages provided there is sufficient motivation to undertake the work.

      Of course, in any language there are still huge problems for us to solve. Carefully dictated, clear speech can now be understood by computers with only a 4-5 percent error rate, but even state-of-the-art technology still records 30-40 percent errors with spontaneous speech. Within ten years we will have computers that respond to goal-directed conversation, but for a computer to have a conversation that takes into account human social behavior is probably 50 years off. We’re not going to be chatting to the big screen in the living room just yet.

     In the past insufficient speed and memory have held us back, but these days they’re less of an issue. However, there are those in the IT community who believe that current techniques will eventually hit a brick wall. Personally, I believe that incremental developments in performance are more likely. But it’s true that by about 2040 or so, computer architectures will need to become highly parallel if performance is to keep increasing. Perhaps that will inspire some radically new approaches to speech understanding that will supplant the methods we’re developing now.

Questions 6-10 are based on Passage Two.

6. Having natural conversations with computers implies that computers will be able to______.

   A. make artificial speech

   B. connect people onto the Internet

   C. keep relevant information

   D. interact with people on the screen

7. The word “conventions” in Paragraph 2 means ______.

   A. ways                B. traditions

   C. customs              D. solutions

8. To let all people adapt to a voice-based world, operation procedures for conversing with computers should be ______.

   A. language transferable            

B. error free

   (2. techno compatible     



D. user friendly

9. The last sentence in Paragraph 4 means ______.

   A. a goal-directed conversation is on the way to completion

   B. people have no desire to talk to screens in the living room

   C. natural conversation with computers is a long way to go

   D. other goal-directed conversations seem to be impossible

10. The writer and those in IT community feel there will need a (an) ______over the development of speech-recognition techniques.

  A. step-by-step improvement        

B. updated performance

   C. rapid change in speed      


D. completely new innovation

Passage Three

     When she returned home after a year in South America, Judith Martin, a North American writer, began to have a problem. People kept interpreting her behavior as flirtatious, but she was not flirting. Fairly soon she figured out what was happening.

     When most South Americans talk to each other face-to-face, they stand closer together than do North Americans. Martin had not readjusted to North American distances. Apparently, she had forgotten about the phenomenon known as personal space — the amount of physical distance people expect during social interaction. Everyone has expectations concerning the use of personal space, but accepted distances for that space are determined by each person’s culture.

     Observations about personal space began about twenty years ago. Anthropologist Edward T. Hall was a pioneer in the field. He became very interested in how interpersonal distances affected communication between people. In his book The Hidden Dimension, Hall coined the word “proxemics” to describe people’s use of space as a means of communication. As Hall’s book title indicates, most people are unaware that interpersonal distances exist and contribute to people’s reactions to one another.

      Personal space depends on invisible boundaries. Those boundaries move with people as they interact. Personal space gets larger or smaller depending on the circumstances of the social interaction at any moment. People do not like anyone to trespass on their personal space. As Worchel and Cooper explain, invasions of personal space elicit negative reactions that range from mild discomfort to retaliation to walking out on the situation.

     Researchers working with Hall’s data found that accepted interpersonal distances in the United States also depend on other factors. For example, subcultures help determine expectations concerning personal space. Fisher, Bell, and Baum report that groups of Hispanic-Americans generally interact more closely within their subculture than Anglo-Americans do within theirs. They further explain that in general subcultural groups tend to interact at closer distances with members of their own subculture than with nonmembers.

     Age also affects how people use personal space. Worchel and Cooper report that North American children seem unaware of boundaries for personal space until the age of four or five. As the children get older they become more aware of standards for personal space. By the time they reach puberty, they have completely adapted to their culture’s standards for interpersonal distances.

     Gender also influences people’s use of personal space. For example, North American males’ most negative reaction is reserved for anyone who enters their personal space directly in front of them. Females, on the other hand, feel most negative about approaches from the side. Also, females have smaller interpersonal distances than do males, although pairs of the same sex communicate across larger spaces than do pairs of males and females. The gender factor shifts, however, in high-density situations such as crowded subways or elevators in the United States. As Maines observes, when people have some choice about where they stand or sit in crowded settings, they gravitate to people of the same sex.

     As international travel and commerce increase, intercultural contact is becoming commonplace. Soon, perhaps, cultural variations in expectations for personal space will be as familiar to everyone as are cultural variations in food and dress. Until then, people need to make a special effort to learn one another’s expectations concerning personal space. Once people are sensitive to such matters, they can stop themselves from taking the wrong step: either away from or toward a person from another culture.

Questions 11-15 are based on Passage Three.

11. Judith Martin’s experience tells that interpersonal distance in social interaction is determined by ______.
   A. personal preference             

B. cultural background

   C. location             

  

D. race

 12. According to Hall, personal space in social interaction is used ______.    
A. consciously           



B. favorably

   C. unconsciously         



D. unfavorably

 13. Being unaware of interpersonal distance in communication may lead to the following EXCEPT ______.

    A. discomfort             


B. retaliation

    C. a breakdown                   

D. an interaction

 14. Accepted interpersonal distance in the US is better shown among ______.

    A. subcultural groups     



B. age groups

    C. subregional groups    



D. gender groups

 15. Knowledge of cultural variations in personal space in communication is most important now in ______.

    A. cultural differences             B. good communication

    C. enjoying foreign food    

   D. interpersonal relationship

Passage Four

     When you stop and think about your high school or college alma mater, are your experiences more positive or negative? Do your feelings of success or failure in that school have anything to do with whether or not your school was single-sex or co-ed? More and more Americans are electing to send their children to single-sex schools because they feel both boys and girls blossom when they study in the company of students of the same sex. They tend to achieve more.

     For years, only parents who could afford to send their children to private schools, or who had strong religious or cultural reasons, chose single-sex education for their children. Today, however, along with costly private schools, public schools are experimenting with the idea of separating the sexes. However, because public schools are not allowed to discriminate on the basis of sex, they have been denied federal support.

     Girls may be the ones who benefit most from single-sex schooling. Studies have shown that many girls get shortchanged in co-ed classrooms because teachers sometimes pay more attention to boys. Girls’ positive, exuberant attitude toward their studies tends to disappear as they begin to feel less successful. They start to watch their male peers outperform them in math and science. As boys begin to gain confidence, girls start to lose it. Moreover, adolescence is such a fragile time for girls. As they experience adolescent changes, some girls become depressed, develop an addiction, or suffer from an obsession with weight.

    In the early 1990s, the American Association of University Women (AAUW) concluded that being in single-sex classes could raise a girl’s self-esteem. Schools across the country began creating single-sex classrooms and schools. But in a later report, that same organization could no longer support the claim that girls performed better without boys in the classroom. In addition, many critics claim that all-female schools may actually be harmful to a girl’s education because they “reinforce regressive notions of sex differences.”
     The renewed interest in single-sex schooling has fostered a controversy among Americans. Those who give it full support believe girl’s need an all-female environment to take risks and find their own voices, proclaiming that they’re “better dead than co-ed.” Those who question the validity of single-sex schooling wonder whether students' lack of achievement warrants returning to an educational system that divides the sexes. They believe there is no such thing as separate but equal.

Questions 16-20 are based on Passage Four.

16. It can be learned from the passage that single-sex schooling______.

   A. aroused parents’ deep interest in the early 1990s

   B. is welcomed by more and more Americans

   C. receives more criticisms than praise

   D. is an outdated educational idea

17. Girls may ______ while studying in an all-female school.

   A. feel less competitive

   B. be less likely to take risks

   C. gain more confidence in studies

   D. care less about their appearances

18. Which of the following has NOT been mentioned as a factor that may affect girls’ performance in co-ed schools?

   A. Girls’ adolescent changes.

   B. Parents’ attitudes toward their studies.

   C. Teachers’ attitudes toward different sexes.

   D. Boys’ outstanding performance in math and science.

19. Those who question the possibility of single-sex education believe  that ______.

   A. boys and girls should be equal

   B. sex discrimination affects students’ performance

   C. single-sex public schools receive more financial aids

   D. AAUW never changes its attitudes toward single-sex schooling

20. The passage is mainly about ______.           

   A. disadvantages of often neglected co-ed schooling

   B. the differences between private schools and public schools

   C. reasons why girls can benefit most from single-sex education

   D. Americans’ controversial attitudes toward single-sex schooling

Passage Five

    Among investors, confidence in India has taken a knock. The stockmarket is down by a tenth in dollar terms this year. That reflects higher interest rates, but also a sense that the government has lost the plot. It has, say its critics, failed to control corruption and public borrowing, fallen behind on infrastructure and proven unable to make decisions. Vedanta, a London-listed resources firm, has been waiting for almost a year for ministerial approval to buy control of the Indian unit of Cairn Energy, which is also London-listed.

    On June 28th, during a trip to America, India’s finance minister insisted that things were on track. Many business folk are sceptical. “Reforms will happen—after the whole system collapses,” predicts a corporate oligarch. He is just talking about India’s bankrupt electricity-distribution companies, which are a tiresome bottleneck. Overall, he remains an optimist on India, arguing that a “golden century” awaits the country.

    But for many firms the usual jitters are now combined with a less familiar problem: falling profitability. Listed firms’ return on equity, which was 21-23% in the five years to March 2008, was only 17% last fiscal year, estimates IIFL, a broker, using a sample of 140 companies accounting for two-thirds of the stockmarket by value. Data for the Nifty Fifty index of big firms paint a similar picture. Few analysts expect a quick recovery.

    Part of the fall reflects transient factors. Acquisitions abroad have hit some companies’ returns, for example. But deeper trends are at play, too. Labour costs have risen, particularly at some state-controlled firms: Steel Authority of India’s staff bill rose by a whopping 41% last fiscal year. Indiscipline and slower-than-expected growth have wilted profits in sectors such as cement, construction, property and telecommunications.

    Some industries, such as consumer goods, continue to prosper. But to motor along, India’s economy needs not only shampoo but also new roads, shops, houses, factories and power plants. Lower returns and faltering reforms may make firms coy about sinking money into the ground. In the quarter to March, growth in gross fixed capital investment slumped, having been healthy for years (other than during the 2009 financial crisis).

    The chairman of a manufacturing and retailing firm says he has recently tempered his expansion plans, just to play it safe. “I suppose everyone has done it,” he remarks, while acknowledging that this collective wobble risks becoming a self-fulfilling prophecy.

Questions 21-25 are based on Passage Five.

21. The underlined phrase in the sentence (in Para. 1) “confidence in India has taken a knock” means ______.

   A. has been damaged              

B. has been blocked

   C. has been revitalized       


D. has been in rise

22. The Vedanta example shows ______.

   A. government disapproval of Vedanta buying Cairn Energy

   B. government restriction on trading in energy firms abroad

   C. insufficiency of government

   D. impatience of the company

23. For many firms, the problem facing them is that they are ______.

   A. making less money             

B. expecting a quick recovery

   C. losing more money             

D. expecting a large return

24. Which is NOT true about the India’s economy?

   A. Consumer industry grows consistently.

   B. Infrastructural industry grows leg behind.

   C. Firms are losing confidence in investment.

   D. Capital investment keeps growing steadily.

25. The chairman of a manufacturing and retailing firm ______.

   A. extended his plans              B. examined his plans to spot risks

   C. contracted his plans             D. reviewed his plans to make safe

II. Vocabulary (10 points, 1 point for each)

Directions: Scan the following passage and find the words which have roughly the same meanings as those given below. The number in the brackets after each word definition refers to the number of paragraph in which the target word is. Write the word you choose on the Answer Sheet.
     That is what the economy is all about — making choices on how to use limited resources of money, manpower, machinery and materials, whether it involves a shopper deciding what to buy in the supermarket or a manufacturer deciding what line of goods to produce. Choices made in the economy involve a continuous tug-of-war between consumers and producers over price.

      If many businesses are offering a product and there is plenty of it to satisfy the needs of all consumers, a producer will be forced to sell at a price not far above costs in order to keep from being stuck with a lot of unmarketable supplies. This is why, for example, prices for fresh fruit and vegetables drop during the summer months when such produce is in great number.

      However, a low price — especially if it falls below what it costs a seller to  make the goods — will discourage production, perhaps drive the high-cost  producers out of business or force them to make something else. Again using an example from agriculture, farmers periodically plant less wheat or raise fewer cattle if the prices for those commodities give too little return for the costs involved.

      On the other hand, if there is great demand for a product and supplies are tight, business will be able to raise prices, their profits will increase and they will invest in new equipment to increase output. Other firms may be attracted by the hopes of good profits to produce the scarce item, thus adding new competition.

      That, in the simplest form, is the way the law of supply and demand works in free-market economy. Price becomes the guidepost, telling producers what they can expect to sell at a price that more than covers their costs. At the same time, posted prices tell the consumer what he can expect to pay.

26. small in amount or number (Para. 1)

27. the kind of (Para. 1)

28. goods, items available (Para. 2)

29. to prevent from happening (Para. 3)

30. at regular times (Para. 3)

31. profit from investment (Para. 3)

32. not enough of (Para. 4)

33. not easy to find or obtain (Para. 4)

34. it gives important information about (Para.5)

35. to have enough money to pay something (Para. 5)

III. Summarization (20 points, 2 points for each)

Directions: In this part of the test, there are ten paragraphs. Each of the paragraphs is followed by an incomplete phrase or sentence which summarizes the main idea of the paragraph. Spell out the missing letters of the word on your Answer Sheet.

Paragraph One

     A 39-year-old woman, a patient in a psychiatric clinic had locked herself in a toilet with a knife. Police brought the dog Purzel when they learned the woman was a dog lover. As soon as the woman spotted Purzel sniffing through a crack in the door she dropped the knife and picked him up.

36. Hero dog p ______ a suicide.

Paragraph Two

     A survey of 26,000 people in 36 countries by VisitBritain, the national tourism body, found that a majority of people in 27 nations disagreed with the statement that “British food is very bad”. Russia, Estonia and Egypt were the most enthusiastic about British food, while Spain, Italy, Japan and France were the least impressed.

37. More t ______ began to appreciate British food.

Paragraph Three

     The IAEA, the UN nuclear watchdog, warned that the nuclear crisis triggered by Japan’s earthquake and tsunami is far from over. The lesson Germany learns from the Japanese nuclear disaster is that the earlier the exit, the better. Germany would turn to green and clean technologies and become a nuclear-free country.

38. Germany’s reflection on nuclear e ______.

Paragraph Four

      Scientists have found that life can survive in boiling pools of toxic water at Yellowstone National Park, something they did not think was possible. The fact that life can thrive in a boiling pool brings up all sorts of ideas about the origins of life. It may be that the first life on Earth was in the places humans might consider hospitable.

39. Finding life in unusual p______.

Paragraph Five

      “This type of meal, this fast food made with ground beef with a certain tomato sauce, fries does not strike me as a universal dream!” said Jean Glavany, France’s agriculture minister. “I want to spare Europeans this,” he said. “My struggle is cultural—what I have opposed and still oppose is the imperialism of a food model that wants to be the only model.”
40. The b______ over fast food.

Passage Six

      Several governments in Europe have decided that radical action is required to increase the number of women in the executive suite. Norway passed a law in 2003 that obliged all publicly listed firms to reserve 40% of the seats on their boards for women by 2008. Spain passed a similar law in 2007; France earlier this year. The Netherlands is working on one.

41. More women in b______ top.

Passage Seven

     The business travel and meetings organization in America attributes the recent increase to rising airfares, fuelled by energy prices, constrained capacity and relatively strong demand, higher lodging rates, and growing corporate demand. For example, it expects corporate spending on overseas trips to rise to $31.8 billion in 2011, a 9.1% increase on last year.

42. The price of t______ continues rising in America in 2011.

Passage Eight

     The row over phone-hacking by journalists has led to the closure of the News of the World newspaper, and wider questions about press regulation, media ownership, the police, and relationships between politicians and journalists. It admitted intercepting voicemails in April after years of rumor that the practice was widespread.

43. Ethics in j______.

Passage Nine

     The reigning queen of all media in the US is talk-show host Oprah Winfrey. Her influence goes beyond her daily one-hour show into everything from the publishing business to the agricultural markets. Do you need proof? When Winfrey discusses an unknown author on her show, his book goes to the top of the best-seller charts.

 44. Queen of t______.

 Passage Ten

      London’s underground railway will replace commuters’ sweaty odors with  the gentle waft of perfume when it introduces a new air freshener into the world’s oldest subway. London has imported a powerful perfume, called Madeleine, from  the Paris Metro. Madeleine will be used to mask the pungent smells of London’s  underground.

45. Perfume masks c______ odors.

 IV. Translation (20 points, 4 points for each)

Directions: In the following passage, there are five groups of underlined sentences. Read the passage carefully and translate these sentences into Chinese. Write the Chinese version on your Answer Sheet.

      It was a great shock to me to discover that I had motor neuron disease. (46) I had never been very well co-coordinated physically as a child. I was not good at ball games, and my handwriting was the despair of my teachers. But things seemed to change when I went to Oxford, at the age of 17. (47) I took up coxing and rowing. I was not boat race standard, but I got by at the level of inter-college competition.
      In my third year at Oxford, however, I noticed that I seemed to be getting clumsier, and I fell over once or twice for no apparent reason. But it was not until I was at Cambridge, in the following year, that my father noticed, and took me to the family doctor. He referred me to a specialist, and shortly after my 21st birthday, I went into hospital for tests.

      The realization that I had an incurable disease, that was likely to kill me in a few years, was a bit of a shock. (48) How could something like that happen to me? Why should I be cut off like this? Not knowing what was going to happen to me, or how rapidly the disease would progress, I was at a loose end. The doctors told me to go back to Cambridge and carry on with the research I had just started in general relativity and cosmology. But I was not making much progress, because I didn’t have much mathematical background. And, anyway, I might not live long enough to finish my PhD. I felt somewhat of a tragic character.

     But shortly after I came out of hospital, I dreamt that I was going to be executed. (49) I suddenly realized that there were a lot of worthwhile things I could do if I were reprieved. In fact, although there was a cloud hanging over my future, I found, to my surprise, that I was enjoying life in the present more than before. I began to make progress with my research, and I got engaged to a girl called Jane Wilde, whom I had met just about the time my condition was diagnosed. That engagement changed my life. It gave me something to live for. But it also meant that I had to get a job if we were to get married. I therefore applied for a research fellowship at Gonville and Caius College, Cambridge. To my great surprise, I got a fellowship, and we got married a few months later.

     The fellowship at Caius took care of my immediate employment problem. (50) I was lucky to have chosen to work in theoretical physics, because that was one of the few areas in which my condition would not be a serious handicap. And I was fortunate that my scientific reputation increased, at the same time that my disability got worse. This meant that people were prepared to offer me a sequence of positions in which I only had to do research without having to lecture.
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